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Aufgaben-Quickname: 7649

Aufgabe 1
Quick:
7649

Berechne.

a) 913− 1 = 912 b) 472− 1 = 471 c) 946− 5 = 941
d) 881− 1 = 880 e) 577− 1 = 576 f) 744− 2 = 742
g) 718− 7 = 711 h) 838− 7 = 831

Aufgabe 2
Quick:
7649

Berechne.

a) 7331− 15 = 7316 b) 9331− 8 = 9323
c) 8957− 23 = 8934 d) 6557− 17 = 6540
e) 4268− 53 = 4215 f) 5641− 8 = 5633 g) 5318− 7 = 5311
h) 6030− 5 = 6025

Aufgabe 3
Quick:
7649

Berechne.

a) 41− 8 = 33 b) 32− 2 = 30 c) 53− 2 = 51
d) 55− 7 = 48 e) 53− 8 = 45 f) 67− 2 = 65

Aufgabe 4
Quick:
7649

Berechne.

a) 649− 6 = 643 b) 216− 4 = 212 c) 594− 2 = 592
d) 912− 1 = 911 e) 757− 6 = 751 f) 425− 4 = 421
g) 475− 3 = 472 h) 854− 1 = 853

Viel Erfolg!
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